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PreAP PreCalculus

A. Rewrite +he given expression in simplest form.

. tanxcosx

2. cotxtanx

3. secysin (g - y)
Y. cotusinu

1+tan? x

cscZx

1—cos2 6

sin@

7. cosx — cos3 x

sin? u+tan? u+cos?u

8.

secu

B. Simpliy the expression o either | or -
9. sinxcscx

10. sec(—x) cos(—x)

I. cot(—x) cot (g — x)

I2. cot (—x)tan (—x)

3. sin?(—x) + cos?(—x)

M. sec?(—x) — tan? x

Using the Fundamental Trig Identities to Simplity Expressions

C. Simplify The expression to either a constant or a basic trig function.

IS tan(g—x)cscx

csc? x

1+tanx
1+cotx

7. (sec? x + csc? x) — (tan? x + cot? x)

sec? u—tan?u
cosZ v+sin? v



